PR R
¥ D JER I — AR & B

EFEE KEE P OMKER
2011 4o A RILAEHE HEFER

BREHAUEL. BIEX., SBEFENEER

x F

—., EFEE: AXEK 12/ E: BMNES S EENEHEHONANERD, RE—WEF
A HERK.
(1) BHltanb+cotf@<0, HAafhor

(A) BB —RRMA (B) =B RRM
(C) B—EHBE=%IRA (D) B BIIRIRMA
(2) B ABCD- ABGD, REKNIMIET K, NNEA ACB D, HEZ
a L @ 1 © 1l <!
2 3 a A 6

A/

(3) #EAMBCH, fid. B. CHIRHAAHNaD, o Fa’+c*~b" =\Bac, W B=
w Z B % g3 m Tm2”
6 3 .6 6 303
\',\;(‘:-: '\
(1) HHHC MERTHNE, Hlezd20, W
Ay
() |z|<1 ® =117 © 1<[]<+2 (D |2|2+2

(5) #a=log,3, b=log,6, c=log,9, i

(A) a=b=c (B) a<b<c (C) b<c<a (D) c<b<a
(6) {ENUTkABCD S, AB=+2, H&BHKHHNL, W _HMH A-CD-BHIREENR
() =1 (B) 0 © @ L
3 3 2

& 1
() BHF{a,} MM n THS, =1-——, Wla, =

1 1 1 2
(A) —_ Ch——= D) —— =
2n—1 2n+1 (2n—l)(2n+l) (2n—l)(2n+l)

(8) BRI ELAAAFH TN (x—B) +(y-1) =4, FELBRAIHRA, x BTE3 iSO
wrRES, ZEKAEA

JEREREHE PO 1 M4k: http://www. pkuzyw. com




PEE R
¥ TR R KGR A I

S
) p=2 (B) p=4 e—f) 6 (—1,—]
P e cos[ 3 ( IS -
©) p=4cos[a—£](oe(—1’-,2—”D ) p=4cosl9(9€[——7£,£D
6 373 272

(9) &ﬁy=ﬁ+l(x>—l)ﬁ‘]ﬁ&ﬁy‘3
@ y=ﬁ+l(x>l) (B) y=ﬁ+l(x>—l)
© y=ﬁ—-l(x>—l) ) y=$—l(x>l)
(10) REENTUBAC 5L 1 WFAME, PHC L, % AREP LSBEA=

i, WCHBELERN

¢y A5 (g3, 3EA T
2 2
<1,
(11) T
gm0, <
QA 3 (B 2
(12)D. E. FRAMBCHZA, RAD = DE , BE=EF , CF =FD . & AF = A4B + u4C ,

(A, 1)= \\)1\
(A) [ig) (B) (ii) ) (il] (D) (Zi)
717 7 717 717

. = AR 6 NE: H/MES 5

(13) FEXFxMHBEL - +ax=0FER, Ma=

(14) CHMEKEL mn, BNFE . B, 4H0A 6.
OFEmlinmla Wnla @Fallp.mcancf, Wmin
@FEmilamlp Walp @Falpmila, Mmlp

HepIEB e BRI P 5 2
(15) WHFLHI {a,} IZTEAIER, RInTUAS,, HS=T7S,, WHAKKN_ .

e REFHE PO 2 M4k: http://www. pkuzyw. com



2R
& - LTI K- e A 3B

(16) ERAEALIFR 00z, zmp(z,l,l)ﬂsﬁaz{"‘””“=°’ REMTFES

3x—2y-2z+1=0
Ay
AD) HEE2WMA p(x) WL p(1)=1, p(2)=3, W p(x)#ix*-3x+2BRHBHKRAN____ .

(18) WA 4 KARM KA, HABEMME 4 X, FREHRHR—K, WHSTFARKRA
R B BERA

=, WEE. AKES4ME: BB 15 5. MERS HICFRE, ERLERRESE.
(19) WL £ (x) =[2x-3|+}x+2-

(1) 187 (x) SRABE, R £ (x) H0B/ME:

(1) A% f(x)<5. iy

(20) R AMBC HBIA= AT, A
(1) sinA+sinB>1+cosC; Xx}\x__%

/ \A/‘)‘\
3 f \\_>

I 2<sinA+sinB+sinCST. =
% (\‘\‘
(21 i&#@%i&c:y=7‘—5%\1\)}=h+l§$m BFS, PAMMRIEXF SHYILE

(1) Hk=18f, KA PHI4IF;

(1) HkZAeEt, K P L.

(21) ¥5{a,} WIRTn BN S,, #HLa =1 a,,-S,=n.
(1) Et{a,} HIET=T0;

(1) #&b,=S,+n+1, k8 {b,} RELEF;

(D K {a, } KHETA K.

JEREREF L 3 M4k: http://wew. pkuzyw. com



